### IJBPAS, November, 2019, 8(11): 2116-2127

**ISSN: 2277-4998** 



International Journal of Biology, Pharmacy and Allied Sciences (IJBPAS) 'A Bridge Between Laboratory and Reader'

www.ijbpas.com

# EFFECT OF GRADED LEVELS OF DIETERY PLANT PROTEIN ON ELEMENTAL CONCENTRATION OF HYBRID (*Catla catla* x *Labeo rohita*) FROM PAKISTAN

# IQBAL R, NAEEM M<sup>\*</sup> AND MASUD S

Institute of Pure and Applied Biology, Bahauddin Zakariya University, Multan, Pakistan \*For Correspondance: dr naeembzu@yahoo.com; (Tel (+92)-333-7378881) (Fax (+92)-61-9210098) Received 19<sup>th</sup> March 2019; Revised 18<sup>th</sup> April 2019; Accepted 19<sup>th</sup> May 2019; Available online 1<sup>st</sup> Nov. 2019 https://doi.org/10.31032/IJBPAS/2019/8.11.4857

# ABSTRACT

The written report under discussion was conducted in 90 days in order to analyse the impact of three dietary protein feeds (15% CP, 20% CP, and 25% CP) on elemental concentration (Fe, K, Na, Zn, Ca, Mg, Pb, Cd) in hybrid fry (*Catla catla*  $\mathcal{T}$  x *Labeo rohita*  $\mathcal{T}$ ) by using Flame Atomic Absorption Spectrometry. Criteria for preparation of feed was based on cost effectiveness and local availability of ingredients. An increasing trend of essential elements was noted with increasing protein level. Accumulation trend in all treatment groups in decreasing order is "K"> "Ca"> "Na"> "Mg"> "Fe"> "Zn"> "Pb"> "Cd". Regression analysis between different elements and body weight exhibited significant correlation in group fed on 15% protein (T1) and 25% protein (T3) except for Pb (Lead) and Cd (Cadmium) respectively, while the subjects fed on diet containing 20% protein (T2) showed no correlations in different metals except in Ca (Calcium). The study revealed that metals in different groups exhibited diverse allometric relation with increasing body weight. Analysis of hybrid body length with total metal concentration revealed that all metals evaluated in the study showed allometrically negative and non significant correlation in all the groups fed on different diets. The multiple regression analysis showed no relation among hybrid body weight and length against elemental concentration in all three feeding groups except in some elements (Na, Pb, Cd). The results indicate, hybrid fed with plant protein feeds showed the levels of elements (essential and non essential) within the permitted levels of international standards.

Keywords: Crude protein (CP), hybrid, elemental concentration, Allometry, Multiple regression

#### INTRODUCTION

It is to be noted that Aquaculture required replacement of fish meal in the preparation of fish diets, especially for non-carnivorous species because of increasing cost day by day. Therefore, in lodge to prepare economic diets, alternative plant protein sources such as grains, pulses and oilseeds are widely used [1]. Positive impacts of good compounds in fish are badly impressed by the presence of toxic compounds in water body and fish body and also have an adverse consequence on human health when humans consume such fishes according to [2].

Heavy metals having non biodegradable nature and bioaccumulation ability in various tissues are badly disturbing fish health and surrounding ecosystem [3]. Metal accumulation in fish body is more than in water and sediment reported by [4].

It is a universal fact that all elements are not lethal as iron is required for hemoglobin and myoglobin and are therefore also found in two important proteins (ferritin and hemosiderin) in fish liver, only long term exposure of iron can be lethal [5, 6]. It is thus understood that low concentration of heavy metals can be dangerous if consumed for a long period. Similarly, if essential elements are practiced up in excessive quantity, they can work out to be extremely dangerous. Among important metals, lead is considered a toxic heart, delivering the lowest rate of evacuation and its poisoning causes anemia, colic, encephalopathy, abdominal pain and also acts as immunosuppressive in human [7]. A probable carcinogenic agent in human is cadmium, which also causes renal failure, kidney and liver diseases, anemia and skeletal weakening [8].

Referable to the rapid increase in industrialization, Pakistan is adversely facing a serious problem of aquatic pollution of heavy metals due to industrial effluents and domestic sewage in freshwater bodies especially in the state of Punjab. Moreover, heavy metals slow down the development rate of fish, increase mortality and also affect reproduction and physiological functions [9]. It is a fact that there exist three common passages or ways of heavy metals in the fish's body, namely gills, body surface and digestive tract [10]. Then, feed ingredients also have an imperative role in the aggregation of components in fish body.

Many surveys have been planned to develop a balanced diet containing different combinations of plant protein sources. The primary purpose of the present work was to develop three different cost benefit protein diets to aquaculture by using different

#### Naeem M et al

combinations of constituents and to examine the potential shock of these diets on the elemental concentration of hybrid (*Catla* x *Labeo*) in hatchery environment.

# MATERIALS AND METHODS

The present experimental study was conducted for three months (90 days) at Tawakkal Fish Hatchery, near District Muzaffargarh in Punjab (Pakistan).

### **Experimental Design**

The hybrid fry (Catla catla x Labeo *rohita* $\bigcirc$ ) were for chosen elemental composition by providing three different protein feeds consisting of 15%, 20% and 25% crude protein levels, because deep body of Catla catla and narrow head of Labeo rohita are ideal morphometric characters which can be gained in same fish by hybridization. Furthermore, the fry of hybrid were shifted in three hapas after acclimatization. The size of each hapa was 8X6X3 feet and placed in earthen ponds. Acclimatization period was 15 days in cement tanks and fish meal was fed to fry during this period. Each treatment feed was given in duplicates. Holding in view the rate of 5% with regard to body weight, the feed was provided to fish just one time during a daytime.

Methodology of feed preparation

Three diets containing protein levels as 15 % is called T1, 20% is called T2 and 25% is called T3 were prepared from different ingredients, most important plant protein sources are rice polish, wheat brawn, sunflower meal etc. The following steps are followed in feed preparation

Drying of all ingredients in oven at 600°C.
Mixing of all ingredients in grinder for 40 minutes.
Stirring of the powdered form feeds contents in feed mixing machine for 30 minutes.
Storage of feed in polyethylene bags

# Analysis of elemental composition in hybrid (*Catla catla* ♂ x *Labeo rohita* ♀)

After completing feeding trial of 90 days (3 months), fishes were shifted to *Institute of Pure and Applied Biology (IP and AB), Bahauddin Zikriya University (BZU) Multan.* Information on hybrid body weight in "gm" and total length in "cm" was noted after washing the fish's body. Steps for preparation of the sample for atomic absorption analysis are presented under,

1- Until gained constant weight, drying of each fish at 50-60°C. 2- Digestion of each fish at 500°C for 6 hours. 3- Dissolution of each sample in solution of 10 ml containing 70% HNO<sub>3</sub> in conical flask. 4- Dryness of each sample at 82-100°C on hot plate. 5-Dilution of each sample using deionized

different 6-Determination of water. elemental concentration using Atomic Absorption Spectrometer (Agilent Technologies 240 AA Series with spectra software) using the absorbance method of each element in flame atomization mode. Body weight and total length both influenced variations in elemental concentration so the interrelationships are examined by applying regression plus multiple regression equations. Multiple regression analysis was done by applying the following equation

# Y = a+b1 (W) + b2 (X)

Where intercept is "a", the regression coefficients are "b1" and "b2", body weight is "W", total length is "X" and different body elemental contents are "Y". Correlation coefficients r was also defined for these variables. Multiple regression (analysis) was performed by "MINITAB" statistical software.

# RESULTS

All information regarding average values in all three feeding groups in hybrid (*Catla catla*  $\land$  *x Labeo rohita* $\bigcirc$ ) is given in Table 1. Potassium (K) showed highest and increasing trend in average values of all treatment groups on dry weight basis, while Cadmium (Cd) observed minimum and decreasing trend in all feeds. Values of Iron (Fe), Sodium (Na) , Zinc (Zn), Calcium (Ca) and Magnesium (Mg) in all feeds in dry weight basis follow an increasing trend because 25% protein feed showed highest mean values in above mentioned elements as compared to 20% and 15% protein feed.

# Hybrid Body weight relation with metal concentration

The value of "r" (correlation coefficient) among different elements and fish weight showed diverse correlations in different treatment groups in Table 2. When analysis of log total metal quantity was performed with log fish weight, it was observed that different elements in different feeding groups revealed increasing trend means "b">1.0, while others showed negative allometric correlation means "b"<1.0 showed in Table 2.

# Hybrid Body length relation with metal concentration

Analysis of log length with log value of metal concentration results showed that all metals (Fe, K, Na, Zn, Ca, Mg, Pb, Cd) showed negative allometry "b"<"3.0" and no correlation showed in Table 3. Multiple regression analysis in Table 4 is between hybrid weight, length and different elemental variables showed non significant correlation in all parameters except in case of Fe, Na and Cd in first group (15% protein) and in case of Pb in third group (25% protein).

Elements	Treatment Groups	Mean ± S.E	Mean ± S.E
		In dry weight (µgg <sup>-1</sup> )	In wet weight (µgg <sup>-1</sup> )
Fe	T1 (15%)	436.12±19.03	84.89±6.43
	T2 (20%)	548.14±78.54	104.79±13.11
	T3 (25%)	638.25±26.99	132.62±5.91
K	T1 (15%)	8277.5±347.70	1610.79±114.04
	T2 (20%)	9267.5 ±466.82	1777.29±110.17
	T3 (25%)	9857.5±251.67	2049.44±93.43
Na	T1 (15%)	4332.5±384.78	842.12±78.61
	T2 (20%)	4772.5±325.20	915.22 ±70.22
	T3 (25%)	5100±248.32	1060.52±68.42
Zn	T1 (15%)	184.37±5.50	35.88±2.36
	T2 (20%)	205.01±15.83	39.24±2.14
	T3 (25%)	222.12±12.53	46.78±2.69
Ca	T1 (15%)	5100±48.59	992.05±48.94
	T2 (20%)	5299.1±114.10	1015.89±31.43
	T3 (25%)	5511.46±125.31	1145.53±40.53
Mg	T1 (15%)	1911.07±131.52	372.15±36.26
Ŭ	T2 (20%)	2104.2±168.71	403.19±30.71
	T3 (25%)	2329.61±119.31	484.18±27.99
Pb	T1 (15%)	1.92±0.23	0.37±0.04
	T2 (20%)	1.88±0.24	0.36±0.04
	T3 (25%)	1.85±0.15	0.38±0.03
Cd	T1 (15%)	0.54±0.194	0.105±0.039
	T2 (20%)	0.53±0.22	0.102±0.044
	T3 (25%)	0.50±0.15	0.105±0.03

#### Table 1: Mean values of elemental concentration with standard error in whole body of hybrid (*Catla x Labeo*) (whole fish) (n = 10)

S.D (Standard Deviation)

			10)			
Elements	Treatment Groups	Coefficient correlation (r)	Intercept (a)	Slope (b)	Standard error (b)	Value of t (when b=1)
Fe	T1 (15%)	0.847**	0.909	2.032	0.450	4.514
	T2 (20%)	0.069 <sup>ns</sup>	3.355	-0.242	1.236	-0.196
	T3 (25%)	0.779**	2.366	0.786	0.223	3.520
K	T1 (15%)	0.838**	2.338	1.880	0.451	4.171
	T2 (20%)	0.400 <sup>ns</sup>	3.518	0.750	0.607	1.235
	T3 (25%)	0.850**	3.213	1.086	0.238	4.559
Na	T1 (15%)	0.716*	2.087	1.848	0.636	2.903
	T2 (20%)	0.407 <sup>ns</sup>	3.004	0.960	0.762	1.259
	T3 (25%)	0.861**	2.508	1.454	0.304	4.781
Zn	T1 (15%)	0.682*	1.212	1.347	0.510	2.639
	T2 (20%)	0.303 <sup>ns</sup>	2.170	0.464	0.515	0.900
	T3 (25%)	0.880***	1.208	1.405	0.268	5.243
Ca	T1 (15%)	0.811**	2.599	1.403	0.358	3.915
	T2 (20%)	0.858**	2.650	1.331	0.282	4.718
	T3 (25%)	0.932***	2.781	1.244	0.171	7.280
Mg	T1 (15%)	0.788**	1.365	2.220	0.613	3.623
0	T2 (20%)	0.554 <sup>ns</sup>	2.119	1.450	0.771	1.881
	T3 (25%)	0.742*	2.732	0.958	0.306	3.133
Pb	T1 (15%)	0.030 <sup>ns</sup>	0.491	0.066	0.782	0.085
	T2 (20%)	0.193 <sup>ns</sup>	-0.163	0.737	1.324	0.557
	T3 (25%)	0.877***	-1.358	1.827	0.355	5.152
Cd	T1 (15%)	0.296	-2.742	2.756	3.147	0.876
	T2 (20%)	0.118 <sup>ns</sup>	1.619	-1.459	4.328	-0.337
	T3 (25%)	0 046 <sup>ns</sup>	-0.122	0.230	1 779	0 129

Table 2: Regression results of wet body	weight in gm (log) with body	elemental concentration in µg (le	og) of hybrid (Catla x Labeo) (n =
	10)		

(Coefficient of correlation (r), Intercept (a), Slope (b), Standard error (SE), Highly significant correlation=\*\*P<0.001, Significant correlation=>0.05)

Flomonts	Treatment	Coefficient	Intercent	Slope	Standard	Value of t
Elements	Groups	correlation (r)	(a)	(b)	error (b)	(when  h=3)
Fe	T1 (159/)	0.461 <sup>ns</sup>	(a)	0.435	0.206	1 469
ге	$T_{1}(1576)$	0.401	2.330	0.433	0.290	1.400
	12(20%) T2(25%)	0.000	3.338	-0.201	1.234	-0.228
	13 (25%)	0.427	2.905	0.355	0.200	1.334
K	11 (15%)	0.445"	3.847	0.398	0.283	1.404
	T2 (20%)	0.126 <sup>ns</sup>	4.547	-0.235	0.657	-0.358
	T3 (25%)	0.443	3.992	0.458	0.336	1.360
Na	T1 (15%)	0.630 <sup>ns</sup>	3.214	0.800	0.221	3.617
	T2 (20%)	0.040 <sup>ns</sup>	3.949	0.094	0.833	1.113
	T3 (25%)	0.386 <sup>ns</sup>	3.625	0.538	0.455	1.182
Zn	T1 (15%)	0.350 <sup>ns</sup>	2.304	0.272	0.257	1.055
	T2 (20%)	0.009 <sup>ns</sup>	2.683	-0.014	0.541	-0.026
	T3 (25%)	0.507 <sup>ns</sup>	2.140	0.668	0.402	1.662
Ca	T1 (15%)	0.379 <sup>ns</sup>	3.758	0.258	0.223	1.157
	T2 (20%)	0.335 <sup>ns</sup>	3.594	0.520	0.517	1.006
	T3 (25%)	0.521 <sup>ns</sup>	3.623	0.574	0.333	1.725
Mg	T1 (15%)	0.414 <sup>ns</sup>	3.156	0.459	0.357	1.286
0	T2 (20%)	0.153 <sup>ns</sup>	3.303	0.402	0.915	0.439
	T3 (25%)	0.375 <sup>ns</sup>	3.423	0.400	0.349	1.144
Pb	T1 (15%)	0.384 <sup>ns</sup>	0.266	0.334	0.284	1.175
	T2 (20%)	0.027 <sup>ns</sup>	0.532	0.104	1.348	0.077
	T3 (25%)	0.413 <sup>ns</sup>	0.011	0.711	0.554	1.283
Cd	T1 (15%)	0.137 <sup>ns</sup>	-0.458	0.501	1.285	0.390
	T2 (20%)	0.226 <sup>ns</sup>	2.665	-2.779	4.244	-0.655
	T3 (25%)	0.096 <sup>ns</sup>	-0.258	0 398	1 464	0 272

Table 3: Regression results of total length in cm (log) with body elemental concentration in µg (log) of hybrid (Catla x Labeo) (n=10)

<sup>(</sup>Coefficient of correlation (r), Intercept (a), Slope (b), Standard error (SE), Highly significant correlation=\*\*P<0.001, Significant correlation=\*\*P<0.01, Non significant correlation=>0.05)

Table 4: Multiple regression results of wet body weight in gm and total length in cm with elements burdrn in $\mu gg^{-1}$ in w	wet body weight of
hybrid ( <i>Catla x Labeo</i> ) (n=10)	

Relationships	Treatment	Coefficient				
_	Groups	correlation	Intercept	Value of b1+Standard	Value of b2+Standard	(r <sup>2</sup> )
		(r)	(a)	error	error	
$\mathbf{F}\mathbf{e} = \mathbf{a} + \mathbf{b}_1 \mathbf{W} + \mathbf{b}_2 \mathbf{T}\mathbf{L}$	T1 (15%)	0.684*	-6.4	12.43±5.35	-260±2.87	0.468
	T2 (20%)	0.351 <sup>ns</sup>	238	-9.8±13.0	-1.8±18.5	0.123
	T3 (25%)	0.321 <sup>ns</sup>	161.3	-194±2.76	-0.18±3.20	0.103
$\mathbf{K} = \mathbf{a} + \mathbf{b}_1 \mathbf{W} + \mathbf{b}_2 \mathbf{T} \mathbf{L}$	T1 (15%)	0.618 <sup>ns</sup>	-11	202±102	-46.0±54.8	0.383
	T2 (20%)	0.482 <sup>ns</sup>	3033	42±102	-201±145	0.233
	T3 (25%)	0.152 <sup>ns</sup>	1.962	18.1±45.5	-16.2±52.7	0.023
$Na = a + b_1 W + b_2 TL$	T1 (15%)	0.670*	450	-11.2±66.6	67.2±35.7	0.449
	T2 (20%)	0.238 <sup>ns</sup>	1214	23.9±72.4	-67±103	0.057
	T3 (25%)	0.503 <sup>ns</sup>	671	44.4±29.1	-22.1±33.7	0.254
$\mathbf{Zn} = \mathbf{a} + \mathbf{b}_1 \mathbf{W} + \mathbf{b}_2 \mathbf{TL}$	T1 (15%)	0.344 <sup>ns</sup>	18.3	2.46±2.53	-0.85±1.36	0.119
	T2 (20%)	0.404 <sup>ns</sup>	66.6	-0.88±2.09	-1.93±2.96	0.164
	T3 (25%)	0.449 <sup>ns</sup>	28.6	1.24±1.19	0.11±1.37	0.202
$Ca = a + b_1 W + b_2 TL$	T1 (15%)	0.547 <sup>ns</sup>	433	81.0±46.7	-30.5±25.0	0.300
	T2 (20%)	0.505 <sup>ns</sup>	855	44.4±28.8	-42.3±40.9	0.256
	T3 (25%)	0.426 <sup>ns</sup>	894	19.2±18.1	-1.3±20.9	0.182
$Mg = a + b_1 W + b_2 TL$	T1 (15%)	0.607 <sup>ns</sup>	-136	61.5±32.9	-12.0±17.6	0.369
_	T2 (20%)	0.309 <sup>ns</sup>	331	26.3±31.0	-27.6±44.0	0.096
	T3 (25%)	0.083 <sup>ns</sup>	517	-0.2±13.7	-2.9±15.9	0.007
$Pb=a+b_1 W+b_2 TL$	T1 (15%)	0.618 <sup>ns</sup>	0.877	-0.0758±0.0368	0.0312±0.0197	0.382
	T2 (20%)	0.618 <sup>ns</sup>	0.532	-0.0040±0.0492	-0.0141±0.0699	0.013
	T3 (25%)	0.663*	0.099	0.0266±0.0121	-0.0081±0.0140	0.44
$\mathbf{Cd} = \mathbf{a} + \mathbf{b}_1 \mathbf{W} + \mathbf{b}_2 \mathbf{TL}$	T1 (15%)	0.741*	-0.073	0.0277±0.0440	-0.0121±0.0236	0.055
	T2 (20%)	0.624 <sup>ns</sup>	0.384	-0.0096±00466	-0.0191±0.0662	0.039
	T3 (25%)	0.608 <sup>ns</sup>	0.169	-0.0079±0.0152	0.0045±0.0176	0.037

(Coefficient of correlation (r), Intercept (a), Regresssion coefficients (b1, b2), Standard error (SE), Highly significant correlation=\*\*P<0.001, Significant correlation=\*\*P<0.01, Non significant correlation=>0.05)

Fishes are an important source of metals for humans and like other organisms, humans metals cannot destroy these instead accumulate within the body soft and hard tissues as the liver, muscles, and bone, which can be dangerous for human health, so it is very necessary to utilize pollutant free fish but unfortunately, no uniform or single source of standards are available for most metals in marine and freshwater fishes [11]. The present study also provided a look of elemental concentration in hybrid (Catla x Labeo) by providing three different protein diets.

Values of Na and K in hybrid of the present study are in the range values of the researcher [12] but the values of Mg, Fe and Zn of the present study are higher than [12], while values of Ca, Pb and Cd of the present study are lower than [12]. Present study values of Na, Mg, Pb and Cd on dry weight basis for whole fish are similar to the investigator [13] in *Labeo rohita*, while values of K, Mg and Fe are similar to the range values of [14] in *Catla catla*.

Values of Fe and Zn on dry weight basis of whole fish in current case, having similarity to the range values of [15] in *Puntius chola*. Present study values of Pb and Cd in all (T1, T2, T3) feeds are smaller than values gained by [16] in muscle tissues (Pb= $11.63\pm3.07$ , Cd= $0.79\pm0.48$ ) of *Catla catla*. Present study values of Fe, Zn and Cd are higher and value of Pb is lower when compared with values of [17] in *Wallagu atto*.

The difference in results of the present study and previous reports can be explained on the basis of many factors influenced on accumulation of heavy metals in fish tissues as environmental conditions (temperature, salinity and pH), biological factors (sex, age, size and species), seasonal changes and handling of fish during transportation. Physical and chemical properties of elements are also important for bioaccumulation [18, 19, 20]. With respect to the present study, variations in concentration of different elements may be due to difference in the ratios of ingredients in three dietary protein feeds.

According to studies of [21], ranges of zinc, lead and cadmium in fish are 192-480, 2.4-48  $\mu$ g/g and 0.1-2.8  $\mu$ g/g and present study values are under these normal ranges for zinc (184-222  $\mu$ g/g) and cadmium (0.50-0.54) on dry weight basis of whole fish and less than above mentioned values for lead (1.85-1.94  $\mu$ g/g) in all (T1, T2, T3) feeds. Mean lead concentration of present study for all (T1, T2, T3) feeds are less than obtained in *Catla catla* (12.29  $\mu$ g/g) and *Labeo rohita* (10.72  $\mu g/g$ ) [22]. Present study reported normal levels of Cd and Pb in all feeds which are permitted by [23, 24] in fish flesh may be due to pollution free environment of hatchery.

Regression was usually done to judge relation of these elements with fish weight and length to predict "isometric" and "allometric" increase of elements with respect to weight and length [25, 26].

Fe, Zn, Ca in 1<sup>st</sup> group (15%), Ca in 2<sup>nd</sup> group (20%) and Zn, Ca in  $3^{rd}$  group (25%) showed allometrically positive relation "b">"1.0" while Pb in 1<sup>st</sup> group (15%), Fe, K, Zn, Na in 2<sup>nd</sup> group (20%) and Fe, Na, Mg in 3<sup>rd</sup> group (25%) observed negative allometric relation "b"<"1.0" similar to the results of many researchers [12, 17, 15, 27, 28, 29, 30]. Present study hybrid length showed allometrically negative relation "b"<"3.0" in all metals similar to the results of [15] and [28].

When analysis of body weight with different elements was performed, it is suggested that Fe, K, Na, Zn, Ca and Mg showed significant correlations in the first group (15% protein) and a third group (25% protein) having similarity to the observations of [12, 26, 28]. Significant correlation of body weight with Mg and Zn in the first group (15% protein) and a third group (25% protein) feed and non significant relation to body weight with Cd in all feeds in hybrid case is found similar to the observation of [30] in *Mystus bleekri*.

The present study relationship of different metals with fish length suggested no correlation in the case of all metals contrary to the results of [12, 26, 28] who showed a significantly higher correlation of metal concentration with fish length. It has seen that concentration of different elements increased or decreased while others remained constant with increase in size, the possible reason is that some elements accumulation rate is higher than others to increase in fish size and may also be influenced by metabolic rate of fish, its foraging behavior, habitat of fish, temperature, seasonal changes and physical and chemical changes of water [12, 31].

It can be further noted that analysis of multiple regression between body weight, length and different metal showed an insignificant relation in the second group (20% protein) and a third group (25% protein) in case of Na, Cd and Zn have similarity to the results of [12].

# CONCLUSION

It is concluded that the decreasing trend of elements in all three groups is as "K"> "Ca"> "Na"> "Mg"> "Fe"> "Zn"> "Pb"> "Cd". Dietary protein feeds increase essential elementals concentration with increasing

protein level as 25% feed observed maximum gain. Non essential (Pb, Cd) elemental concentration values of three feeds (T1, T2, T3) are within normal ranges proved by many studies and international standards given by many researchers. The existing study also concluded that different metals increased or decreased with body weight, but total length have no influence on the elemental concentration of hybrid. Variations in elemental concentration ranges may be due to changes in ratios of feed ingredients in three feeds (T1, T2, T3). Such an analysis demand further investigations in terms of decreased or increased crude protein levels like 10% or 30% etc. to observe variations in elemental concentrations.

# ACKNOWLEDGEMENT

This study was funded by the Pakistan Agriculture Council and Agriculture Linkage Pragrammes (ALP).

### REFERENCES

[1] Abdel-Warith, AW, Al-Asgah N, El-Sayed Y, El-Otaby A, Mahboob, S, The effect of replacement of fish meal with Amino Acids and Optimized Protein Levels in the diet of the Nile Tilapia Oreochromis niloticus, Brazi. J. Biol, 2018, https://doi.org/10.1590/1519-6984.189413.

- [2] Bubach DF, Catán SP, Baez VH, Arribére MA, Elemental composition in rainbow trout tissues from a fish farm from Patagonia, Argentina. Environ Sci Pollut Res, 2017, https://doi.org/10.1007/s11356-017-0898-x.
- [3] Genc TO, Yilmaz F, Heavy metals content in water, sediment, and fish (*Mugil cephalus*) from Koycegiz lagoon system in Turkey: Approaches for assessing environ mental and health risk, J. Agric. Sci. Technol, 20(1), 2018, 71-82.
- [4] Gungum B, Unlu E, Tez Z, Gulsun Z, Heavy metals Pollution in Water, Sediment and Fish Form the Tigris River in Turkey, Chemosphere, 29, 1994, 111-116.
- [5] Sures B, Steiner W, Rydlo M, Taraschewski H, Concentrations of 17 elements in the Zebra Mussel (*Dreissena polymorpha*), in different tissues of perch (*Perc fluviatilis*), and in perch intestinal parasites (*Acantho cephaluslucii*) from the subalpine Lake Mondsee, Austria, Environ. Toxicol. Chem, 18, 1999, 2574–9. http://doi.org/10.1002/etc.562018112 6.

[6] Yilmaz AB, Sangün MK, Yağlioğlu D, Turan C, Metals (major, essential to non-essential) composition of the different tissues of the three demersal fish species from İskenderun Bay, Turkey, Food Chem, 123, 2010, 410– 5.

http://doi.org/10.1016/j.foodchem.201 0.04.057

- [7] Chisolm J. Management of increased lead absorption and lead poisoning, Eng. J. Med, 289, 1973, 1016-1017. http://doi.org/10.1056/NEJM1973110 82891906.
- [8] Friberg L, Cadmium and the kidney,J. Environ. Health Pesrpec, 54, 1984,1-11.

http://doi.org/10.1289/ehp.84541.

- [9] Javed M, Relationships among water, sediments and plankton for the uptake and accumulation of metals in the river Ravi, Ind. J. Pharm. Sci, 2, 2003, 326-331.
- [10] Sarnowski P, The effect of metals on yolk sac resorption and growth of starved and fed common carp (*Cyprinus carpio*) larvae, Acta Scientiarum Polonorum Piscaria, 2, 2003, 227-236.
- [11] Castro-Gonzalez M.I, Mendez-Armenta M, Heavy metals:

Implications associated with fish consumption, Environ. Toxicol. Pharmacol, 26, 2008, 263–271. http://dx.doi.

org/10.1016/j.etap.2008.06.001.

- [12] Naeem M, Salam A, Tahir SS, Rauf N, The effect of fish size and condition on the contents of twelve essential and non essential elements in *Aristichthys nobilis* from Pakistan, Pak. Vet. J, 31(2), 2011, 109-11.
- [13] Salam A, Ansari, TM, Akhtar QA, Studies on the effect of body size on Whole body elemental concentration of farmed rohu, *Labeo rohita* (Ham.) from Multan, Pakistan, Proceedings in Pak. Congre. Zool, 13, 1993, 467-472.
- [14] Salam A, Mahmood JA, Akhtar QA, Ansari TM, Tariq N, Inorganic elemental concentrations of wild *Catlacatla* in relation to growth, Pak. J. Sci. Industrial Res, 41, 1998, 247-250.
- [15] Ansari TM, Saeed MA, Raza A, Naeem M, Salam A, Effect of Body Size on Metal Concentrations in Wild *Puntius chola*, Pak. J. Analy. Environ Chem, 7(2), 2006, 116-119.
- [16] Paudel PN, Pokhrel B, Kafle BK,Gyawali R, Analysis of heavy

metals in some commercially important fishes of Kathmandu Valley, Nepal, Int. Food Res. J, 23(3), 2016, 1005-1011.

- [17] Yousaf M, Salam A, Naeem M, Khokhar MY, Effect of body size on elemental concentration in wild *Wallagoattu* (Bloch and Schneider) from southern Punjab, Pakistan, Afr. J. Biothech, 11(7), 2012, 1764-1767. http://doi.org/10.5897/AJB11.722.
- [18] Zeynali F, Tajik H, Asri-Rezaei S, Meshkini S, Fallah AA, Rahnama M, Determination of copper, zinc and iron levels in edible muscle of three commercial fish species from Iranian coastal waters of the Caspian Sea, J. Animal Vet. Advan, 8, 2009, 1285–1288.
- [19] Kim JH, Kang JC, The lead accumulation and haematological findings in Juvenile rock fish (*Sebastes schlegelii*) exposed to the dietary lead(II) concentrations Ecotoxicol, Environ. Saf, 115, 2015, 33-39.
- [20] Mehouel F, Bouayad L, Hammoudi AH, Ayadi O, Regad F, Evaluation of the heavy metals (mercury, lead, and cadmium) contamination of sardine (*Sardina pilchardus*) and

swordfish (*Xiphias gladius*) fished in three Algerian coasts, Vet. World, 12(1), 2019, 7-11. http://doi.org/ 10.14202/vetworld.2019.

- [21] Yamazaki M, Tanizak Y, Shimokawa T, Silver and other trace elements In a freshwater fish, *Carasius auratus langsdorfii*, from the Asakawa River in Tokyo, Japan, Environ Pollution, 94, 1996, 83–90. <u>http://doi.org/10.1016/S0269- 7491</u> (96)00053-x.
- [22] Javed M, Heavy metal contamination of fresh water fish and bed sediments in the river Ravi stretch and related tributaries, Pak. J. Biol. Sci, 8(10), 2005, 1337-1341. http://doi.org/10.3923/pjbs.2005.133 7.1341.
- [23] Food and Agriculture Organization (FAO), Compilation of legal limits for hazardous substances in fish and fishery products, FAO Fishery Circulars No, 764, 1983, Rome, 5-100.
- [24] Food and Agriculture Organization (FAO), Trace metals in environments, 2010.
  <u>http://www.fao.org/trace</u> metals.html.

- [25] Weatherly AH, Gill HS, The Biology of Fish Growth. Academic Press, London. 1987.
- [26] Salam A, Ansari TM, Tariq N, Akhtar QA, Effect of Body Size on Metal Concentrations in Farmed *Cirrhinusmrigala*, J. Asian Fish. Sci, 15, 2002, 329-334.
- [27] Salam A, Ansari, TM, Akhtar QA, Naeem, M, Changes in the elemental composition of river mahseer, *Tor putitora* in relation to body size, Acta Scientia, 4, 1994, 85-94.
- [28] Naeem M, Salam A, Tahir SS, Rauf N, Assessment of the essential element and toxic heavy metals in hatchery reared *Oncorhynchus mykiss*, Int. J. Agri. Biol, 12, 2010, 935–938.
- [29] Naeem M, Salam A, Proximate composition of fresh water bighead carp, *Aristichthys nobilis*, in relation to body size and condition factor from Islamabad, Pakistan, Afr. J. Biotech, 9, 2010, 8687-8692. http://doi.org/10.5897/AJB10.888.
- [30] Naeem M, Salam A, Narejo NT, Khokhar MY, Yar RA, Ishtiaq A, Heavy Metal Detection in *Mystus Bleekeri* as Bioindicator and Potential Risk of Human Health,

Sindh Uni. Res. J. (Science Series), 44(2), 2012, 189-194.

[31] Jezierska B, Witeska M, The metal uptake and accumulation in fish in polluted waters. In: living Twardowska I, Allen HE, Haggblom Stefaniak S, eds. Viable MM, methods of soil and water pollution protection monitoring, and remediation. New York: Springer, 107-14. 2006, http://doi.org/10.1007/978-1- 4020-4728-2 6.